

$$\int_0^{\pi} e^{-x} |\sin nx| dx = \sum_{k=1}^{\infty} \int_{(k-1)\pi}^{\frac{k\pi}{n}} e^{-x} |\sin nx| dx \quad \text{--- ①}$$

$$\int_{\frac{k\pi}{n}}^{\frac{(k-1)\pi}{n}} e^{-x} \sin nx dx = \int_{\frac{k\pi}{n}}^{\frac{(k-1)\pi}{n}} (-e^{-x})' \sin nx dx = -[e^{-x} \sin nx]_{\frac{k\pi}{n}}^{\frac{(k-1)\pi}{n}} + \int_{\frac{k\pi}{n}}^{\frac{(k-1)\pi}{n}} e^{-x} \cos nx \cdot n dx$$

$$= n \int_{\frac{k\pi}{n}}^{\frac{(k-1)\pi}{n}} (-e^{-x})' \cos nx dx = -n [e^{-x} \cos nx]_{\frac{k\pi}{n}}^{\frac{(k-1)\pi}{n}} + n \int_{\frac{k\pi}{n}}^{\frac{(k-1)\pi}{n}} e^{-x} (-\sin nx) n dx$$

$$= -n \left\{ e^{-\frac{k\pi}{n}} \cos k\pi - e^{-\frac{(k-1)\pi}{n}} \cos(k-1)\pi \right\} - n^2 \int_{\frac{k\pi}{n}}^{\frac{(k-1)\pi}{n}} e^{-x} \sin nx dx \quad \text{--- ①}$$

$$\int_{\frac{k\pi}{n}}^{\frac{(k-1)\pi}{n}} e^{-x} \sin nx dx = \frac{n}{n^2+1} \left\{ -e^{-\frac{k\pi}{n}} \cos k\pi + e^{-\frac{(k-1)\pi}{n}} \cos(k-1)\pi \right\} = \begin{cases} \frac{n}{n^2+1} \left\{ e^{-\frac{k\pi}{n}} + e^{-\frac{(k-1)\pi}{n}} \right\} & (k \text{ が奇数のとき}) \\ \frac{n}{n^2+1} \left\{ -e^{-\frac{k\pi}{n}} - e^{-\frac{(k-1)\pi}{n}} \right\} & (k \text{ が偶数のとき}) \end{cases}$$

kが奇数のとき, $\int_{\frac{k\pi}{n}}^{\frac{(k-1)\pi}{n}} e^{-x} |\sin nx| dx = \int_{\frac{k\pi}{n}}^{\frac{(k-1)\pi}{n}} e^{-x} \sin nx dx = \frac{n}{n^2+1} \left\{ e^{-\frac{k\pi}{n}} + e^{-\frac{(k-1)\pi}{n}} \right\}$

kが偶数のとき, $\int_{\frac{k\pi}{n}}^{\frac{(k-1)\pi}{n}} e^{-x} |\sin nx| dx = -\int_{\frac{k\pi}{n}}^{\frac{(k-1)\pi}{n}} e^{-x} \sin nx dx = \frac{n}{n^2+1} \left\{ e^{-\frac{k\pi}{n}} + e^{-\frac{(k-1)\pi}{n}} \right\}$

$$\text{よって } ① = \frac{n}{n^2+1} (1+e^{\frac{\pi}{n}}) \sum_{k=1}^{\infty} (e^{-\frac{\pi}{n}})^k = \frac{n}{n^2+1} (1+e^{\frac{\pi}{n}}) \frac{e^{-\frac{\pi}{n}} (1-e^{-n\pi})}{1-e^{-\frac{\pi}{n}}} = \frac{n}{n^2+1} (1+e^{\frac{\pi}{n}}) e^{-\frac{\pi}{n}} (1-e^{-n\pi}) \frac{1}{e^{-\frac{\pi}{n}}-1} \frac{1}{\frac{\pi}{n}}$$

$$= \frac{1}{\pi} \frac{1}{1+\frac{1}{n^2}} (1+e^{\frac{\pi}{n}}) e^{-\frac{\pi}{n}} (1-e^{-n\pi}) \frac{1}{\frac{e^{\frac{\pi}{n}}-1}{n}}$$

\downarrow
 $-\frac{\pi}{n} = m \text{ とおくと } n \rightarrow \infty \text{ のとき } m \rightarrow 0$

$$\text{よって } \lim_{n \rightarrow \infty} \int_0^{\pi} e^{-x} |\sin nx| dx = \lim_{n \rightarrow \infty} \frac{1}{\pi} \frac{1}{1+\frac{1}{n^2}} (1+e^{\frac{\pi}{n}}) e^{-\frac{\pi}{n}} (1-e^{-n\pi}) \frac{1}{\frac{e^{\frac{\pi}{n}}-1}{n}} = \frac{1}{\pi} \cdot 1 \cdot 2 \cdot 1 \cdot 1 \cdot 1 = \frac{2}{\pi}$$